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QUESTION 1

A customer recently acquired a HCP 500. They want to setup switch zoning in this format:
HCP1_R1_U10_B_85042771_1B as recommended by HDS. Which two switch zoning naming conventions apply?
(Choose two.) 

A. 18 - port 

B. 18 - node 

C. 85042771- serial number 

D. 85042771 - product key 

Correct Answer: AC 

 

QUESTION 2

What is required to connect a HCP 500 node to a SAN switch? 

A. MAC address of the back-end NI Cs 

B. World Wide Port Name 

C. MAC address of the front-end NI Cs 

D. World Wide Node Name 

Correct Answer: B 

 

QUESTION 3

A customer performed a search for an object that was recently added into the archive tenant being searched. The object
was not listed within the search results returned by the HCP search engine. Why did this happen? 

A. The DPL2 volume had not yet been mounted to the search node(s) for access. 

B. There was not sufficient time allowed for indexing the most recent data added to the archive. 

C. The attribute for the new data\\'s namespace was set to "hidden". 

D. The customer had not yet enabled DPL level two or above for the namespaces in this tenant. 

Correct Answer: B 

 

QUESTION 4

Which two statements about HCP versioning are correct? (Choose two.) 
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A. Any given namespace can be configured to support versioning. 

B. Once configured, the versioning configuration cannot be changed. 

C. The versioning configuration can be changed at any time. 

D. When versioning is enabled, HCP automatically sets a time for version pruning. 

Correct Answer: AC 

 

QUESTION 5

Your customer deleted a replication link running between two HCP systems. Which two statements are true relating to
the tenants and namespaces previously included in the link? (Choose two.) 

A. The same replication link can be re-established to resume replication. 

B. The tenants and directories included in the deleted link cannot be replicated again to the same replica unless they
are first deleted from that replica; 

C. The HCP tenants and namespace included in the link remain and become read-write on both the primary system and
the replica; 

D. The HCP tenants and namespace included in the link remain read-write on the primary system and read-only on the
replica; 

Correct Answer: BC 
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